Twnwa<L

; L Y Ds No. of

| 10-32UNF | GH3 | 394710 | 25P | 2756 | 0.354 | 0.945[1.654 | 0194 2 | 1
| 1/213UNC__| GH5 | 397451 | 25P 14.331 | 0591 | - 1220510367 3 | 3 |
| 5/8-11UNC__ | GH5 | 394755 | 25P 4331 (0709 | - [2205 048 | 3 | 3 |

i L 2 Ds No. of
“ . (ég) (ég) o ivites Type

| M3X035 | D4 | 394644 | 2.5P | 2.205]0.196 | 0.736 1 1.339 | 0141 | 3 | 1 |
| M4X05 | D4 | 394643 | 2.5P | 2.48 |0.196 | 0.815 11535 | 0168 | 3 | 1 |
| M6X075 | D6 | 394735 | 2.5P [ 3.15 10.315]1.181 11713 10255 | 3 | 1 |
| M10X15 | D8 | 394625 | 2.5P | 3.937 | 0.512 | 1535 12126 | 0381 | 3 | 2 |
| M10X1 | D6 | 394601 | 2.5P | 3.937 | 0.512 | 1535 12.126 | 0381 | 3 | 2 |
| M12X15 | D7 | 394626 | 2.5P | 4.33110.591 | - 1220510367 | 3 | 3 |
| M14X2 | D9 | 394629 | 2.5P | 433110709 | - 1220510429 | 3 | 3 |
| M16X2 | D9 | 394630 | 2.5P [4.33110709 | - 122051048 | 3 | 3 |
| M18X25 | D9 | 394633 | 2.5P [4.92110787 | - 1252 |0542 ] 4 | 3 |
| M20X25 | D9 | 394634 | 2.5P | 551210787 | - 1279510652 4 | 3 |
| M22X25 | D9 | 394640 | 2.5P | 551210787 | - 12795 10697 | 4 | 3 |
| M24X3 | D10 | 394638 | 2.5P | 6.29910.984 | - 13228 |076 | 4 | 3 |





